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1 . For the following circuit, find the drain voltage V', for each case. (MOS in saturation) 15%
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a) Vyu=10V, V=3V
b) V=20V, V=3V
c) V=20V, V=4V

2. For the following circuits, find the labeled currents and voltages (/; and 775). 20%
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For NMOS and PMOS,

W/L=30um/10 um
w,Cor = 50 \uA,‘-"VZ
w,Coy = 20 _uA:"\/2
[V4=1V

A=0

v=0

3. The bias voltages in the circuit shown in Fig. 3 are V' = 5V and V"= -5V. Assume the p=80.

Determine Ig, Ic, Ie and Vec. (20%)
4. For the circuit in Fig. 4, let B =125, Vge(on) = 0.7V, and Va= 200V. (a) Determine the
small-signal voltage gain A,. (b) Determine the output resistance R,. (20%)
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